
DESCRIPTION QTY.

Vision fairing

Vision screen

Left metal support

 M6x25 ISO 7380 Allen Screw (black)
Ø int. 6 x Ø 12 x 8,5mm arrowhead
M6x8 ISO 7380 Allen Screw 
Ø6x1 nylon washer

Right metal support

1

1

6

1

2

4

3

1

6

1

Pg. 1/5

M5x16 ISO 7380 Allen Screw (black)

M6x10 ISO 7380 Allen Screw (black)

M6 knurled nut

M5 Silentblock

M5x0,5 nylon washer

Black Trim lengh 300mm, 1mm thickness

Stikers set

3

3

1

1

4
4

3

2

2

7
8

6
5

10

13

14

9

11

15

16

-  WINDSHIELD FOR  - 

YAMAHA XSR 700  - XSR 900

Ref.:  9560

Ref.: 9561

10 min1 person

Nº 3
Nº 4

ALLEN

Innnteeermmmediate

DDDiffifificcuuullt

Nº 11

YAMAHA XSR 700

YAMAHA XSR 900

M5 ISO 7380 screw cap 312

black colour

carbon look

ID.    PART

 Easy

https://www.motorcycleid.com/puig/


YAMAHA XSR 700 YAMAHA XSR 900
1 1

2 2

Pg. 2/5

6

65

5

5

A

A
Pieza original
Original part

ATTENTION ATTENTION

ATTENTION

6

RIGHT SIDE DISASSEMBLY RIGHT SIDE DISASSEMBLY

RIGHT SIDE ASSEMBLY

JUST LOOSEN

JUST LOOSEN

A

A

LEFT SIDE DISASSEMBLY

ORIGINALS ARROWHEADS, REPLACE IT BY ID6 
( PUIG ARROWHEADS)

2 fixing points



YAMAHA XSR 700 YAMAHA XSR 900

Pg. 3/5

4

3 3

4

ATENCIÓN
ATTENTION

LEFT SIDE DISASSEMBLY

3

RIGHT SIDE ASSEMBLY RIGHT SIDE ASSEMBLY

13

LEFT SIDE ASSEMBLY

10
10 11

11
2

11

11

11

10

10

10

10

14

10

15

15

11

1

1

2

14

12

1412

12

12

12

12

ORIGINALS ARROWHEADS, REPLACE IT BY ID6 
( PUIG ARROWHEADS)



YAMAHA XSR 700 YAMAHA XSR 900

Pg. 4/5

6

5 5

LEFT SIDE ASSEMBLY

4

13

LEFT SIDE ASSEMBLY

6

6 5

5

5

Original part6

5a

5b

ADJUST POSITION

Adjust position

Fasten screwFasten screws



YAMAHA XSR 700 YAMAHA XSR 900

Pg. 5/5

8

7

8a

8b

ADJUST POSITION

Adjust position

Fasten screwFasten screws

10

7

7 8

8

11

11

10

10

11

1

2

15

12

1212

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

